
P O L A N D

P O L A N DP O L A N D

P O L A N D

- 77 -

•	 ADATTATORI
•	 ADAPTORS
•	 VERBINDUNGSSTUTZEN
•	 ADAPTATEURS

770

PART NUMBER F L Ch
770 3 M12X1,5 18 19
770 5 M16X1,5 20,5 22
770 7 M22X1,5 27,5 16

•	 ADATTATORI
•	 ADAPTORS
•	 VERBINDUNGSSTUTZEN
•	 ADAPTATEURS

760

PART NUMBER F L Ch
760 3 M12X1,5 18 19
760 5 M16X1,5 20,5 15
760 7 M22X1,5 27,5 16

7505KV01 Sezione A-A
Section A-A
Schnitt A-A
Section A-A•	 BLOCCHETTI DI 		

	 DISTRIBUZIONE
•	 DISTRIBUTION BLOCKS 
•	 VERTEILERBLÖCKE 
•	 BLOCS DE DISTRIBUTION




